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1) TRADE THEORY

Question No. 1/ Question ID 374 Marks: 2.00

What is the reason for providing two separate Earthing in the panel board?
70 a1S T G S1elT-31aT IR UM a3 &1 11 HRUT 572
(A) O Panel board is made in metal box
§IS YT & g9 H &1 T §

(B) O Control the stray field in the panel (Chosen Option)

99 | Q &7 &l Fafd &% (Chosen Option)
(C) O Reduce the voltage drop in panel board

U7 1S & dleedl $iY &I &H B
(D) O Ensure one earthing in case of other failure (Correct Alternative)

3 fawear & aa A Udh 3fdfa '\ﬁﬁfﬁ?‘l P (Correct Alternative)

Question No. 2 / Question ID 328 Marks: 2.00
What is the main advantage of a class A amplifier?
AN T THEHTER &1 - T4 o1 872
(A) O Minimum signal to noise ratio losses
= s o1 EYET5E ¥ YouTube Channel
(B) © Maximum voltage gain
e Ay
(C) O Maximum current gain (Chosen Option)
YRT Y (Chosen Option)
(D) O Minimum distortion (Correct Alternative)
gAdH ﬁ?ﬁf (Correct Alternative)

Question No. 3 / Question ID 401 Marks: 2.00
What is the purpose of DIN-rail used in the control panel wiring?
Herd Ud IrafT & Ugad DIN-YT &1 S0 a1 82
(A) O Mounting the control accessories without screws (Correct Alternative)
p & fo=1 fArd=ror 9l @@= | (Correct Alternative)
(B) O It provides a path way for electrical wiring
Tg fayd aRi & forT U IR UeH Hdl §
(C) O Mounting the double deck terminal connectors
S9d S RR IS I |
(D) O Mounting the control accessories using screws (Chosen Option)

TP BT STANT S (U0 gD IUBRU DI HISC HRAT (Chosen Option)

Question No. 4 / Question ID 489 Marks: 2.00
Which fuel is available in plenty in India for power generation?
foorel SaTe & forg YRd & S 1 e TR T § SudsY g7
(A) O Coal (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)




(B) O Gasall
TG &1 dd

(C) O Gasoline

(D) O D;esel

Question No. 5/ Question ID 170 Marks: 2.00
Which type of handle design of rotary switch is illustrated as shown in the figure?

for 7 faTy SR et Rad &1 fhd UHR &1 g8 fSmz i 1 82

EL2RIT
EL2RIT

(A) O Key operation

il Fara
(B) O Lever (Chosen Option)

(Chosen Option)

(C) O Coin slot (Correct Alternatlve)_l_

Ry a1 wite (€ dafte)Y OUTube Channel
(D) O Knob

Xl

Question No. 6 / Question ID 436 Marks: 2.00
What is the purpose of LCD on basic operator panel in D.C drive or A.C drive?
D.C 313d U1 A.C $12d H af¥e 3{TdRex Ud WR LCD o1 I£3T T 82
(A) O Measure the speed
Tfaq A1

(B) O Detect the load current
S BT BT Udl Y
(C) O Monitor the parameter (Correct Alternative) (Chosen Option)
P! AR B (Correct Alternative) (Chosen Option)
(D) O Calculate the speed
DI 0T B

Question No. 7 / Question ID 91 Marks: 2.00
Where D.C compound motors are preferred?
%8l D.C HfSd AreRt & urufiidsdr < It 82
(A) O Constant speed requirements (Chosen Option)
g 1fd & srageant (Chosen Option)
(B) O High starting torque requwements
I IRANE gyl sraxgadarng
(C) O Constant load requirements
[SRILSIRS Q1\IS 3‘IIO|~‘2¢4°I?(‘IIQ




(D) O Constant speed under varying load requirements (Correct Alternative)

ST-ET IS SATaAH 1A & AR e 7fd (Correct Alternative)

Question No. 8 / Question ID 183 Marks: 2.00

Which type of wire is used for rewinding of A.C 3 phase motors?
A.C 3 Thol Hic! & RafET & i oy TR & AR HT ITIANT far STl 572
(A) O Super enamelled copper wire (Correct Alternative)

Jqur QT-ITI?IFS PIR AR (Correct Alternative)
(B) © Double cotton covered copper wire

S HUN HR did & dR
(C) O PVC covered copper winding wire (Chosen Option)

HoR did aefedl dR (Chosen Option)
(D) O Single cotton covered copper wire
| DUl opadr ObTHQ dldr

Question No. 9 / Question ID 363 Marks: 2.00
What is the name of the symbol as shown in the figure?

o A <2ie 71u udfies &1 79 w82

- -

(A) O NOT gate (Correct Alternative)
NOT Tt (Correct Alternative)
(B) O OR gate .
ORTE Global iTi YouTube Channel
(C) O NOR gate
NOR 7€
(D) O AND gate (Chosen Option)
AND I (Chosen Option)

Question No. 10 / Question ID 467 Marks: 2.00
What is the purpose of output transformer in inverters?
g9acR H 3MTITYC TIABIR &1 I 1 57
(A) O Step down input AC

$9C Tl &l WU 33
(B) O Step up AC from amplifier (Correct Alternative)
T E?ﬁ WY 37 H (Correct Alternative)
(C) O Step down AC from amplifier (Chosen Option)
T WY 389 B (Chosen Option)
(D) O Step up input AC
g TH. B RT3

Question No. 11 / Question ID 114 Marks: 2.00
Which speed control system provides a smooth variation of speed from zero to above normal?

DI It 71 =T voTTel X ¥ AR ¥ $ifeie 9 T B U S dGard UeH ol 82
(A) O Field qontrol

(B) O Field diverter control
HIcS SACR [0l




(C) O Ward-Leonard system control (Correct Alternative)
TS ey Rz (Correct Alternative)
(D) O Armature control (Chosen Option)
TR fATFT (Chosen Option)

Question No. 12 / Question ID 517 Marks: 2.00
What is the name of the substation that all equipment of substation is installed within the station building?

I YA HT A1 1 g forads Tt Iuaor WeH Haq & HidR Riifid fg 78 g2
(A) O Plinth mounted substatlon (Chosen Option)
@7y AT JaTH (Chosen Option)
(B) O Outdoor substation
3T3TER Id LT
(C) O Indoor substation (Correct Alternative)
(Correct Alternative)

(D) © Pole mounted substation

AECS YaRe¥H

Question No. 13 / Question ID 8 Marks: 2.00
What is the name of the D.C generator according to the field as shown in the figure?

ﬁm%ﬁaﬁﬁ@mwé, BITS & $HR DC SRR &1 AT | e

 E—  — —
I
/- +®\bal T YouTIrbeﬁ*raxnnel
. e E g
( ) O Differential compound generator |
fang® A TR

(B) O Cumulative compound generator (Correct Alternative)
T} it SveR (Correct Alternative)

(C) O Series generator (Chosen Option)
3T SRR (Chosen Option)

(D) O Shunt generator
T

Question No. 14 / Question ID 254 Marks: 2.00

What is the name of the equipment that provides D.C to the rotor of alternator?
TR & AR B! D.C UGH HR- aId SUDRUN &b 10 T 82
(A) O Inverter

(B) O Exciter (Correct Alternative)

(Correct Alternative)

(C) O Synchroniser (Chosen Option)
| (Chosen Option)

(D) O Converter
HacR

Question No. 15/ Question ID 291 Marks: 2.00




Which method of the parallel operation of alternator is shown in the diagram?

ﬁaﬁaﬁa%wﬁmﬁﬁqmﬁﬁ@%nﬁ%
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TfdT R €3y Rishlkep!y fafe (Chosen Option)

Dark & Bright lamp method

SR 3R Iforarar due fafyr

(C) O Dark lamp method

3feRT e fafy

(D) O
UPRR

Moving iron type synchroscope method (Chosen Option)

Western type synchroscope method (Correct Alternative)
fafyr (Correct Alternative)

Question No. 16 / Question ID 329
Which electronic circuit produces signal waves or pulses without an input?

I 1 saaT e e o s Ry

(A) O Oscillator (Correct Alternative)
(Correct Alternative)
(B) O Modulator (Chosen Option)

TISeeR (Chosen Option)

(C) O Detector

(D) O Ampilifier

()

Fraenel

Marks: 2.00

Question No. 17 / Question ID 97
Which type of test is illustrated for the armature after rewound?

Ufaay & F1¢ R & e forg ueR &1 w_iteror fafAd fosar mar g2

Marks: 2.00




EL2CADAT

EL2CAD1T

(A) O Shorted coil test (Correct Alternative) (Chosen Option)
$Sd UINEUT (Correct Alternative) (Chosen Option)
(B) O Open caoil test
DSl UIar

(C) O Voltage drop test

decs gIY Uarm
(D) O Grounded coil test

1SS DIga UG

Question No. 18 / Question ID 147 Marks: 2.00
What is the electrical degree of 6 pole stator of motor?

6 Ul ¥eex Hiex &1 fayd feil g2




(A) O 1440°
1440°

(B) O 720°
720°

(C) O 1080° (Correct Alternative)
1080° (Correct Alternative)

(D) O 360° (Chosen Option)
360° (Chosen Option)

Question No. 19 / Question ID 264 Marks: 2.00
What is the name of the converter as shown in the figure?
o= fae 71U $9aER 1 A 1 57
B-PHASE
SUPPLY
111
L%, D
e (g
/'-H_i- | —O L+
! TSy B
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=
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: Channel
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111
L% D
] (g
r(-r._i- | = L+
| | TEES B
: ARMATURE : 1 =
SLIP-RINGS \“h | j O - Yosi=
SIIIIITIE |
3
(A) O Mercury arc rectifier
311 fepaprt
(B) O Metal rectifier
CIGACEEAR]
(C) O Motor-Generator set
HICR-S R U
(D) O Rotary converter (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
Question No. 20 / Question ID 187 Marks: 2.00

Which method is used to control the speed of 3 phase induction motor from stator side?

LR IS U 3 HaAT S5 Aler &I Tifa B FHuifaa s & forw i fafd o1 Suai foan sirar g7




(A) O By changing the applied frequency (Correct Alternative)
dqddR (Correct Alternative)

(B) O By injecting frequency in rotor circuit

RIeR Fidbe | wiehd! Soide b
(C) O By injecting emf in rotor circuit (Chosen Option)

X gidhe o é'QTIQCF 3@166 YD (Chosen Option)
(D) O By rotor rheostat control

fRafice =0 gr

Question No. 21 / Question ID 167 Marks: 2.00
What refers coil in AC winding?
Tt aEfET ¥ Bigd & 71 Hed 62
(A) O Number of turns under two similar poles (Chosen Option)
& qH 4al & Sfdid gATa! BT TW\AT (Chosen Option)
(B) O Number of turns connected in series (Correct Alternative)
goft o g% g:na’r P T\ (Correct Alternative)
(C) © Number of turns under two dissimilar poles
Gl SR Yl o Sfcid gHIA! BT TS
(D) O Number of turns connected in parallel

AR T o gaTd! P AT

Question No. 22 / Question ID 313 Marks: 2.00
Which is the main application of SCR?

SCR &1 3 3TN HH
#) O Osdlators C“"gﬁﬁﬁﬁél iTi YouTube Channel

Chosen
(B) O Ampilifier
PLRED

(C) O Multi vibrators
Aot

(D) O Speed control of motors (Correct Alternative)
&1 Tfd fUAT (Correct Alternative)

Question No. 23 / Question ID 31 Marks: 2.00
Which type of voltage is induced dynamically in a D.C generator?
C SRR ¥ v TR F1 diecdl MR &0 I URd gial 82
(A) O Direct current voltage
TI& URT dlecsl
(B) O Oscillating voltage
ARERIN GG
(C) O Alternating voltage (Correct Alternative) (Chosen Option)
UTadr gieesl (Correct Alternative) (Chosen Option)
(D) O Pulsating voltage

Question No. 24 / Question ID 57 Marks: 2.00
What is the formula for shunt field current Rgy, of a DC shunt generator if V1 Terminal voltage Eg =

generated EMF?
afe vy e dieeS Ey = IOH EMF 8, dl DC T¢ WReR o T BITS BT Ry, BT ol 162




(A) O lsh=Eg/Rsn

lSh = Eg / RSh
(B) O lsh =EgxRgh
lSh = Eg X RSh

(C) O lgh = V1 x R4 (Chosen Option)
Ish = V1 X Rgp, (Chosen Option)

(D) O Ish = V1! Rgp (Correct Alternative)
Ish = V1 / Rgp, (Correct Alternative)

Question No. 25 / Question ID 323 Marks: 2.00
Which multi vibrator produces a repetitive pulse wave form output?
®IF 1 Hec! aTgsie] U Rufefed e 9a Bil 33eye I ol o7
(A) O One shot multi vibrator

I TIic Hed! drgsic]
(B) O Bistable multi vibrator
ST Hec! aigsieR
(C) O Astable multi vibrator (Correct Alternative)
3T Aol HIE@E'\' (Correct Alternative)
(D) O Monostable multi vibrator (Chosen Option)
HFRCEd Heel argsie} (Chosen Option)

Question No. 26 / Question ID 448 Marks: 2.00
What is the reason of usmg shielded cable for connecting low signal circuits in D.C drives?

St o od Rua .
(A) O@zejsy zrq Connec |C@aia@j dm E@T’ a nnaxl]W%?

& fore sm= (Chosen Option)
(B) O Eliminates the electrical interference (Correct Alternative)
ﬁ‘gﬁ AT B JHTE Hdl % (Correct Alternative)
(C) O Good appearance
3l

(D) O Protects from mechanical injuries

i 91 A S §

Question No. 27 / Question ID 240 Marks: 2.00
What is the name of the AC single phase motor as shown in the diagram?

o & g2t U AC RiTTd Bof HIeR &7 910 R1 82




ELN M5

Global iTi YogTube Channel
v :

(A) O Repulsion motor (Correct Alternative)
Hiex (Correct Alternative)
(B) O Universal motor (Chosen Option)
AR (Chosen Option)
(C) O Shaded pole motor
O HIcR

(D) O Permanent capacitor motor

TURft Gt Hiex

Question No. 28 / Question ID 160 Marks: 2.00
Why slip ring induction motor is fitted with wound rotor?
g 7 SaRM Hier &I a1ds Aex ¥ 1 e fara ofrar g2
(A) O To control the speed
@ fFafd & & forg

(B) O To reduce the losses

B &I HH B & forg
(C) O To get high startlng and running torque (Correct Alternative)

I= TeIfeT 3R I Tﬁlﬂ{?ﬁﬁ & forg (Correct Alternative)
(D) O To reduce the slip (Chosen Option)

hHH HRAT (Chosen Option)

Question No. 29 / Question ID 294 Marks: 2.00




Which is represented by the 'V' curve of the synchronous motor?
P ITE TeR & V' Ish GRT [HY =TT STl 872
(A) O Relation between the armature current and field current (Correct Alternative) (Chosen
Option)
PIC 3R Wies Hic & d JaY (Correct Alternative) (Chosen Option)
B) O Relatlon between the applled voltage and load current
] e 3R TS dic & did daY
(ONQ) Relatlon between the load current and power factor
Q'1I5 BC GﬁT ylar l-hdt% % CIEESEL
D) O Relatlon between the field current and power factor
l-bIQ'S PHC G‘ﬁT dldr lbdt( % CIEESEL

Question No. 30 / Question ID 168 Marks: 2.00
Identify the type of reW|nd|ng process given below?

2 & 8 RaEfE ufrar & yeR &1 uga?

(A) O Hand winding (Correct Alternative) (Chosen Option)

o 3 e (G EO BiEnarkd) (G0eh bl Channel
(B) O Machine winding
5 T
(C) O Skein winding

(D) O Former winding
S

Question No. 31 / Question ID 432 Marks: 2.00
Which type of sensing unit employed in drive system?
139 Red # ford YR &1 Ydgd SohTs BRI 82
(A) O Speed sensing (Correct Alternative)
i (Correct Alternative)

(B) O Photo voltaic cell

BIcdlcelsd dd
(C) O Opto coupler (Chosen Option)

TP HIR (Chosen Option)
(D) O Resistance temperature detector

UfeRIY argA fgeaer

Question No. 32 / Question ID 369 Marks: 2.00
What is the name of the device marked as ‘X’ in the circuit as shown in the figure?

o A fewme U afde 7 x 3 Rifed fSasg &1 9 ®n g2




|ELAT0212
|ELA10212

(A) O No volt coll
diee Pisd

(B) O Stop button

WY &
(C) O Contactor (Chosen Option)

' (Chosen Option)

(D) O Over load relay trip (Correct Alternative)

3R a@rs R fa'q (Correct Alternative)

Question No. 33 / Question ID 116 Marks: 2.00
Calculate the average pitch (Y ) for retrogressive wave winding, if the number of armature conductor =
14, number of slots = 7 and number of poles = 2
TRt TR ATSFET & o iTd U (Y ,) B IO &, AT SR dhader &l AAT = 14, Wi B U =
7 3R ¢l B AT = 2

A 6 (Correct Alte 111
WO B o aaalvdbal iTi YouTube Channel
(B) O 14 (Chosen Option)

14 (Chosen Option)

(C) O
(D) O

0o ~pA

Question No. 34 / Question ID 459 Marks: 2.00
Which term refers that the mass of a substance liberated from an electrolyte by one coulomb of
electricity?

fohrg Treg Qa1 ® fob fopat uaref &1 goom saacienge | T M f3Yd §RT God 8iaT 82
(A) O Electro plating

faya au=
(B) O Electro copying (Chosen Option)

cl I dd (Chosen Option)

(C) O Electrolysis

fayd srguc
(D) O Electro chemical equivalent (Correct Alternative)

faya I maf® g&aid (Correct Alternative)

Question No. 35/ Question ID 34 Marks: 2.00
Which metal is used to make the pole core of large DC machine?

81 DC A & UId BR &I g1 & T [ 41 o1 ITanT fovam S 82




(A) O Stainless steel
LAY EId
(B) O Softiron
=T ol
(C) O Castiron (Chosen Option)
@dl @Il (Chosen Option)
(D) O Cast steel (Correct Alternative)
@ddi ST (Correct Alternative)

Question No. 36 / Question ID 241 Marks: 2.00
What is the name of the winding as shown in the figure?

ﬁaﬁﬁﬂ@ﬂﬂ@a@%ﬂmmw%?

123456 789101112 131415161718 1920212223

e
g
2
k-

123456 789101112 131415161718 19202122204

| __Glopal [ TiYouTube Channel
_...\\L........._.I_i\.....-...__\_..._._\ i
| &
L E':""'1 MW, sl:l.rz %

(A) O Basket winding
2 P

(B) © Diamond mesh shaped coil winding (Chosen Option)
SHS B Wllell & HDHR Bl Hed dlsfeil (Chosen Option)
(C) © Mesh shaped coil winding
Y DHR B! Hed drsiei

(D) O Concentric coil winding (Correct Alternative)

Hdrfgd Ped aIEfST (Correct Alternative)

Question No. 37 / Question ID 100 Marks: 2.00
What happens if the starting resistance of four point starter opens while DC compound motor is running?

gfg DC HHIISS HIeR I & SR IR Ulse WX &1 YRS UfeRIY Jal Y df 1 g2




L+f
; T D
. BOURCE
I

L+f
TO DS
BOURCE

L

(A) O Runs at slow speed
i nfa F Iaar §
(B) O Runs at reverse direction

Il foun & gaan 3
(C) O Runs at very high speed

ggd ool Tfa ¥ IedT 8
(D) O Motor stopped (Correct Alternative) (Chosen Option)

C[4] ?T \'rllqlil (Correct Alternative) (Chosen Option)

Question No. 38 / Question ID 403 Marks: 2.00
What is the purpose of control transformer used in the control panel wiring?

Held Od arRafT & UGN fht ST aTd el SraBRR &1 3539 37 87
VO e @ samal iTi YouTube Channel

B) O To malntaln the constant supply voltage (Chosen Option)
diccs] 9T WA & fold (Chosen Option)
(C) O To supply the power to the auxiliary circuits (Correct Alternative)
TS Aidbe oI faorelt Bt 3Myfef FX= & W (Correct Alternative)
(D) O To supply the power to the motor circuits
HieR Hfde

1 faTelt BT 3yl PR & forg

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 529 Marks: 2.00
What is the expanded form of S.P?
a4 (S.P) &1 fawga U 1 87
(A) O Selected Price
Selected Price
(B) O Selling Price (Correct Alternative)
Selling Price (Correct Alternative)
(C) O Special Price
Special Price

(D) O Super Price (Chosen Option)
Super Price (Chosen Option)

Question No. 2 / Question ID 530 Marks: 2.00
What is denoted as 'I'?

3% (1) frgap! fefig a1 82




(A) O Year
ERR

(B) O Rate
e

(C) O Principal
iR

(D) O Interest (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 3/ Question ID 525 Marks: 2.00
What is the value of a x a® x a3 x a% ?
a x a2 xa3xa4$THF[EP:IT%?
(A) O 2%
9

(B) O

a

a0 (Correct Alternative)

a0 (Correct Alternative)
(C) O af

a’

a

a

(D) O a8 (Chosen Option)

8 (Chosen Option)

Question No. 4 / Question ID 520 Marks: 2.00
What is the value of 14x+3y+25x+2y?
1ux+sysey @ aR@EIEbal iTi YouTube Channel
(A) O 16x + 28y
16x + 28y
(B) O 17x+ 27y
17x + 27y
(C) O 44xy
44xy

(D) O 39x + 5y (Correct Alternative) (Chosen Option)
39x + 5y (Correct Alternative) (Chosen Option)

Question No. 5/ Question ID 531 Marks: 2.00
How the 'Principal’ is denoted in simple interest calculation?
YR TS H iRua &1 fog ave 9 e fasar o g2
(A) O IRI
IRI
(B) O 'P'(Correct Alternative) (Chosen Option)
'P' (Correct Alternative) (Chosen Option)
(C)O :::
(D) O 'n’

Question No. 6 / Question ID 527 Marks: 2.00
What is the unit of strain?

fawfa & 3@1s A1 8?2




(A) O Kg/em?
Kg/cm2
(B) O Newton/metre?

Newton/metre?

(C) O Metre
Metre

(D) O No unit (Correct Alternative) (Chosen Option)
No unit (Correct Alternative) (Chosen Option)

3) ENGINEERING DRAWING

Question No. 1/ Question ID 542 Marks: 2.00
What is the name of the gate
T BT A5 1 82

e Channel

(A) O NOT Gate (Chosen Option)
NOT 7€ (Chosen Option)

(B) O AND Gate (Correct Alternative)
AND i (Correct Alternative)

(C) O Ex-NOR Gate
Ex-Nor 7€

(D) O OR Gate
ORI

Question No. 2 / Question ID 550 Marks: 2.00
Identify the symbol for direct and alternating current.

& 3R TATda hc &b 0T Ui 1 Uga HY
(A) O




(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

| iTi YouTube Channel

Question No. 3 / Question ID 536
Which part regulates the heat in automatic iron?

I AT YT e dg & T o ffd dvar 82
(A) O Pressure plate
UIR @i

(B) O Heating element
(C) O Thermostatic switch (Correct Alternative) (Chosen Option)

o= (Correct Alternative) (Chosen Option)
(D) O Asbestos sheet
gite

Marks: 2.00

Question No. 4 / Question ID 544
Which of the following is AC ammeter?

fgfefed 3 9 &9 AC THieR 82

Marks: 2.00




(A) O

(B) O
(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

(€)O

| YouTube Channel

(D) O

Question No. 5/ Question ID 553 Marks: 2.00
Identify the switch in the given picture.

feu e o | g ! ugaH




(A) O Toggle Switch
CURETSE)
(B) O Intermediate Switch
seHifsue f=
(C) O Flux type switch
I UhR
(D) O Tumbler Switch (Correct Alternative) (Chosen Option)
TR o (Correct Alternative) (Chosen Option)

Question No. 6 / Question ID 547 Marks: 2.00
Which is protective device?
RSB IUBRU DI T §?
(A) O Resistor

(B) O Magnet

(C) O Capacitor .
sk Global iTi YouTube Channel
(D) O Fuse (Correct Alternative) (Chosen Option)
ol (Correct Alternative) (Chosen Option)

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 784 Marks: 2.00
Which website has an ‘Idea Bank’? where you can find a list of multiple problems faced by the country
now?

{3 JaTEE BT 'Idea Bank' 82 ST 31U <X & IHH HIG &8 GHWS &1 I U avd 52"
(A) O Yahoo
aig
(B) O Google (Chosen Option)
1[TcT (Chosen Option)
(C) O Start-up India (Correct Alternative)
TTE-3M7 SfSTT (Correct Alternative)
(D) O Firefox
BRI

Question No. 2 / Question ID 687 Marks: 2.00
is a file storage and synchronization service of cloud computing developed by Google.
T GRT [AHRIT T3S HHCT B Th BIsd RSl 3R RishTge=H a1 g |
(A) O Hard disc
TS o

(B) O Netflix




(C) O Internet Explorer

(D) O Google Drive (Correct Alternative) (Chosen Option)
T[T 14 (Correct Alternative) (Chosen Option)

Question No. 3 / Question ID 719 Marks: 2.00
You have bakery business. Using WhatsApp, what way it will help your Business?
3TUHT 93] BT a9 8, WhatsApp BT ITIGNT d34 F 3P TG &) fbg THR Aeg fHari?

(A) O Chat with friends (Chosen Option)
[ T ST ®Rb (Chosen Option)
(B) O Check status updates
R euSe Sl R
(C) O Quickly respond to customer orders and questions (Correct Alternative)
UEP & SfsH 3T vl P Herar | SR eI (Correct Alternative)
(D) © Watch baking tutorial videos

ST egeiRad difsar @R

Question No. 4 / Question ID 634 Marks: 2.00
Which is an 'App' based Gig economy, helps people i in part t|me job?
B A Th U YTRE T SHIATHT §, S UTE e85 Siid B aTdd ANl Bt AGE Bl 82

(A) O Permanent employee

(B) © Home catering

©0 g e AAMITR A Tube Channel

(D) O Independent contractor
ddA

Question No. 5/ Question ID 780 Marks: 2.00
A person who is associated with the starting of a business is called

98 SUfa ol fp el AU B LI AJSIEINe I PeIoidle
(A) O Businessman (Chosen Option)

CIRSIE]] (Chosen Option)
(B) O Sales Executive

I Tellagfed

(C) O Merchant

(D) O Entrepreneur (Correct Alternative)
(Correct Alternative)

Question No. 6 / Question ID 569 Marks: 2.00
You are requested to complete the given assignment by Monday This is an example of
MTY SFRIY B b T T 1 &1 TR d% T HL | T8 H1 T IR 7 |

A) O mformal communlcatlon
5-|H’>I4-IQ1 d?*ﬂl"ld)-{l'-l

(B) O arequest (Chosen Option)
% Reve (Chosen Option)




(C) O anorder
TP 3R
(D) O formal communication (Correct Alternative)
T (Correct Alternative)

Question No. 7 / Question ID 640 Marks: 2.00

When a person joined a new company, he may be nervous using digital tablets provided at work. That
time he shall

e PTs e fobadl I U+ H A Bl 8, O 98 ST IR Iy BT U f$ed eade &1 IuanT
B I YR bl § | 39 IHY I8 .
(A) O Ask his coworkers to do all the digital work.
3 PIgbhd J H fSioted &1 HA B Hem
(B) O Quit his job.
98 A<l Bl
(C) O Compilain to his manager.
IGb AR Y fRreprad B3

(D) O Keep an open mind and ask his coworkers to teach him. (Correct Alternative) (Chosen
Option)
ST FSHTT a1 TG FX 3R 31 Hladh<d I 39 @M & fIT H3T (Correct Alternative)

(Chosen Option)

Question No. 8 / Question ID 774 Marks: 2.00

When a manufacturer trying to make a better school bag using design thinking. What would be the next
step after understanding the students need in a bag?

m?ﬂéﬁﬁnﬁmfﬁmmmﬂ P U IgaR WA O 11 &1 DI R 38T § ad faanfia &
(A) O Plan different bag d@signs (Correct Al ernZIt-i\%el)be Chan nel
fafira S fESmg= &) W= 91T (Correct Alternative)
(B) O Choose the material for the bag
971 & forg wefaa g
(C) O Choose the colour of the bag
CUEIRUECCE]]
(D) O Ask students to test the bags (Chosen Option)
faenffal & o1 &1 e HRA B B (Chosen Option)

Question No. 9 / Question ID 768 Marks: 2.00

If a factory manager get big order to deliver but there are shortage of workers. In that situation, the
manager will

gfe, forf e} ARoR o1 foeitast & fore arsT sifSR fiyerdr § dfe T affre! ot ot 31 39 fRUfA 8, 3AoR

(A) O Request workers to work extra hours (Correct Alternative) (Chosen Option)
HURA T Sfafvad 6 w1 & &1 ar:R‘r%r S (Correct Alternative) (Chosen Option)
(B) O Cancel the orders
3{TER T HUM
(C) O Stop working
DIH BT &G DA
(D) O Ignore the problem
FHWT W &M g1 &

Question No. 10 / Question ID 586 Marks: 2.00




Fill up the blanks with suitable words so as to become a meaningful sentence.

There a coffee shop  the park.
e QI 1 Ifard Wee! A R a1l Uep Trefeb ooy &1 b |
There a coffee shop the park.

(A) O is, next to (Correct Alternative)
is, next to (Correct Alternative)

(B) O are, nextto
are, next to
(C) O is, next
is, next

(D) O are, next (Chosen Option)
are, next (Chosen Option)

Question No. 11 / Question ID 666 Marks: 2.00
What are green jobs?
U Siied 11 872
(A) O Jobs that conserve resources and help the environment (Correct Alternative) (Chosen

Option)
U ST S THTYAT BT H&0T B! & 3N} UGiaRul 1 HEg Beal @ (Correct Alternative)
(Chosen Option)
(B) O Jobs shared in green colours
Sifed M9 BeR § R P T R
(C) O Jobs that ignore waste separation and recycling

Sieg St 9% VYA 3R IS T P 3 B &

(D) O Jobs that harm the environment

EIRRIERY '
e ?‘an qI§q I%YQUTUbe Channel

Question No. 12 / Question ID 580 Marks: 2.00
Complete the sentence with suitable describing words
The transportation to some rural areas is difficult as the roads are
IFId IUHTED ea! I AT T BN |
The transportation to some rural areas is difficult as the roads are
(A) O uneven (Correct Alternative)
uneven (Correct Alternative)
(B) O polluted
polluted
(C) O dry (Chosen Option)
dry (Chosen Option)

(D) O boring
boring

Question No. 13 / Question ID 623 Marks: 2.00
are a great way for gig workers to find jobs.

T 4firept & fore Tt Wie &1 T AFER RibT Bl




(A) O Online platforms and Apps (Correct Alternative) (Chosen Option)
GIVT-'-IT'ITE'-'-I W R Q’GH (Correct Alternative) (Chosen Option)
(B) O Placement cell
wigHe I
(C) O Employment news paper
ISR JHER U
(D) O Employment exchange
ISR ST

Question No. 14 / Question ID 730 Marks: 2.00
Plan, Prepare, Perform is related to
@, R, Rer_ Agdfad
(A) O attending interview (Correct Alternative)
TTTHR H HIT AT (Correct Alternative)
(B) O your work
3{TIHT BT
(C) O your resume (Chosen Option)
G{WW (Chosen Option)
(D) O vyour personality
ST

Question No. 15/ Question ID 614 Marks: 2.00
If coworkers are gossiping about another coworker what you should do?

gfe TepHl(@iadhe) fhdl o gl & IR § TRIT 6% @ 8 dF U] 1 BT A1igu?
VO rmamaresliobal iTi YouTube Channel

(B) O Join the conversation and continue
H-aUH § M GHT 3R ART I@1 Mgy

(C) O Feel that gossiping is inappropriate workplace behaviour (Correct Alternative) (Chosen
Option)

B BT A1 {3 TRT A1 IR R fd 3qaeR & (Correct Alternative) (Chosen
Option)

(D) O Tell another coworker about the gossip

frdft o gl ! Mg & IR H FaT =1y

Question No. 16 / Question ID 704 Marks: 2.00
Why is it good to think about what you learn?
319 o WA § 39 R AR &1 a1 3157 52
(A) O All are doing
T R E T

(B) O It helps to remember and understand better. (Correct Alternative) (Chosen Option)
Eﬂ'\ﬁ Te I@H 3R qER '\‘I’H%Ie[ o geg firerd %I (Correct Alternative) (Chosen Option)
(C) O It's a good time pass
g 3BT TIH U™ §
(D) O It improves handwriting.

o9 forarde # gUR g ]l

Question No. 17 / Question ID 566 Marks: 2.00
Comma full stop questlon mark are examples of
ST, T X1, $hed- Al & IR |




A) O punctuatlon mark (Correct Alternative) (Chosen Option)
TP (Correct Alternative) (Chosen Option)
(B) O next paragraph

(C) O design
SSIER]

(D) O formal communication
HIHd HRIAGIA

Question No. 18 / Question ID 778 Marks: 2.00
A bag manufacturer design a product and show it to 5 different people for feedback. Why is it important to
listen to different users and not just one?

TS 311 FfT Ue Iare fSoie adl § 3R I Wisa® & AU 5 S@-3a Nl & feard § | had U g
Te! afcs Al SudTaarstl &1 &1d AT i Hedqu! o7
(A) O To get a lot of appreciation for her work
30 DHTH & oI o TRIGAT IR & ferg
(B) O To get alot of ideas
9gd IR f9gR Ui s34 & fag
(C) O Because it's fun
Fiife I8 AVGR §
(D) O To understand the common problems from different users (Correct Alternative) (Chosen
Option)

T SugRTEaten @t G IAETsii B YA & AT (Correct Alternative) (Chosen
Option)

Question No. 19/Qu&l>@ball |T| YOUTUbe Channel Marks: 2.00

While writing an email, why it is important to state the subject clearly?
i e G g 1 Wy &0 I Iorg 1 31 Heeduy 27
(A) O To show he has good English skills
g femM & o for S U SRISTt BT 38T HIRTd §
(B) O To tell the company what the email is about (Correct Alternative)
HUI Bl e TAA S ﬁ‘l’l'{ o g‘ﬁﬁ fPoar# % (Correct Alternative)
(O¥Q) Subject should not be left blank
D! Wrell g1 BIST ST AMBY
(D) O Email cannot be sent without a subject line (Chosen Option)

ﬁ%ﬁm@ﬁ:@ 'QGTGTW% Chosen Option)

Question No. 20 / Question ID 743 Marks: 2.00
While working with your team on a project, one of your coworkers is finding it difficult to finish their job.
What should you do in this situation?

forelt Uioiae TR SOt S0 o A1 TH Id GHY, 3TUP U GebH! DI U] HH T B H HSTS ol a1
g1 39 UM T siue! o1 1 31 e?
(A) O Complain about them to the boss.
IR H 919 ¥ RIrId o1 a1fgu
(B) O Finish their work for them.
3 o IAHT S A dH=1 A1fgT
(C) O Help and support them to finish their work. (Correct Alternative) (Chosen Option)

ITPT HTH [T H | SP! HTddT BT 3R JHAT HA1 AT (Correct Alternative)
(Chosen Option)




(D) O lIgnore their problem and focus on your own work.

I THIT P ToR3{ETS BT ANGY 3R 30 HTH W AT 1 AT

Question No. 21 / Question ID 733 Marks: 2.00
Which is the most important document required by companies to select people for job?
S B! Tl o Torg AN BT 999 HRA o foTE Tad Ag@yul SIFgHE B 11 572
(A) O Your certificate

SHTYhT YHTUUA
(B) O Sports certificate
W JHIOIH
(C) O Your resume (Correct Alternative) (Chosen Option)
STYBT iﬁ{ﬁ (Correct Alternative) (Chosen Option)
(D) O Conduct certificate
IRA JHIOT

Question No. 22 / Question ID 637 Marks: 2.00
Which is an example of being open to learning in the workplace?
FHRIRA F S0 AT BT TP IGTER01 DI AT 82
A) O Avoiding feedback from colleagues

BISad o A FET

(B) O Accepting and adapting to changes in work processes (Correct Alternative) (Chosen
Option)

&1d ufsparal & uRad=l & TR BT 3R YT (Correct Alternative) (Chosen Option)

(C) O Ignoring advancements in technology

Wt & 3
(D) O Refusing to atteg b@f nk X@H\I’&b’@o&;shannel
éﬁmﬁ%ﬁgw%ﬁﬂwﬁﬁm@ﬁ@mm

Question No. 23 / Question ID 699 Marks: 2.00
Which one is the input device among the options?
faemedl o § 1 91 3Ye fSarzy g2
(A) O Speaker
TR

(B) O Printer
e
(C) O Keyboard (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) O Monitor

Question No. 24 / Question ID 805 Marks: 2.00

If someone wants to sell home made products, what they have to do, to grow the business?
TR PIs TR H 94 IATE 921 I8 ¢ dl I TG g & g o &1 g2
(A) O Only sell to her neighbours

DHad I USRIl Bl 1 o1 MY
(B) O Find shopkeepers and build marketing with them. (Correct Alternative)

IPCRI P g8 PR 3R AP 1Y HIH 13T IHT AT (Correct Alternative)
(C) O Keep doing the same thing without any changes

foh<it IGeTTa & agl BTH B TG A6y




(D) O Wait for an opportunity to grow the business (Chosen Option)
AU dgH o ATIR P! Ul&l ®HRAT dlied (Chosen Option)

Question No. 25 / Question ID 598 Marks: 2.00
While reviewing a resume which is very important to keep in mind?
STATSTeT &1 &M HRd THY 69 1 BT &M G Tgd oTe 82
(A) O Interest and hobbies (Chosen Option)
S ud 2 (Chosen Option)
(B) O Highlight skills and qualifications that match the job (Correct Alternative)
MNH A AT @H aTed B 3R TG} T UHT=I STAT (Correct Alternative)

(C) O Salary details
CREACERY

(D) O Lot of information to get the job
Tt T & fore 9gd IR SIHeR)

Global iTi YouTube Channel




